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HH : 1/2 X (3.558+2.688) X 1.450=4.528
AfRME: 1/2X(4.528+4.528) X 0.500=2.264
oy 7Y—b  |wiEER: 1/2 X (1.558+1.000) X 0.930=1.189 1.681
s 1/2X(1.540+1.000) X 0.900=1.143
PR 1/2X(1.189+1.143) X 0.500=0.583
B 2.264-0.583=1.681
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kR 4.53+4.53+0.96=10.02
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HH : 1/2X(3.04042.200) X 1.400=3.668
AR 1/2X(3.668+3.668) X 0.500=1.834
BT | AiE kR 1/2X(1.540+1.000) X 0.900=1.143 1.262 i
EE R 1/2 X (1.540+1.000) X 0.900=1.143
PR 1/2X(1.143+1.143) X 0.500=0.572
B 1.834-0.572=1.262

1/2%(1.200+2.130) X 1.880=3.130
1/2%(2.130+1.100) X 0.520=0.840 2487 m
(3.130+0.840) X 0.300 X £} H:1.044 X 2=2.487
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Aif 6 1/2 X (3.360+2.700) X 1.100=3.333
a7 —h s B 1/2X(3.360+2.700) X 1.100=3.333
R 1/2 % (3.333+3.333) X 0.500=1.667
AT B 1/2 X (2.700+1.800) X 1.500=3.375
S FE: 1/2X(2.700+1.800) X 1.500=3.375
P FE | Tk 1/2X(3.375+3.375) X 1/2X(0.500+1.100)=2.700 | 3.680 mi
Afk#E: 1.667+2.700=4.367
i L 1/2 X (1.660+1.000) X 1.100=1.463
s ik 1/2 X (1.594+1.000) X 0.990=1.284
PRt 1/2 X (1.463+1.284) X 0.500=0.687
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BT : 1/2X(3.040+2.200) X 1.400=3.67
A 1/2X(3.040+2.200) X 1.400=3.67
AT : 0.900 X 0.500 X £+ 1.044 X 2=0.94
AfR¥E: 3.67+3.67+0.94=8.28
AT ZERR: 1/2 X (1.540+1.000) X 0.900=1.14
s 1/2 X (1.540+1.000) X 0.900=1.14
PepdiR: 1.14+1.14=2.28
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Aim BEE: 1/2X(3.360+2.700) X 1.100=3.33
S R 1/2X(3.360+2.700) X 1.100=3.33
M e 1/2X(1.100+0.990) X 0.500 X £+ 1,044 X 2=1.09
R 3.33+3.33+1.09=7.75
R FHB: 1/2X(2.700+1.800) X 1.500 X £}£61.077=3.63
S R 1/2X(2.700+1.800) X 1.500=3.38
TR 3.63+3.38=7.01
SR 7.75+7.01=14.76
i e 1/2 X (1.660+1.000) X 1.100=1.46
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HiE e 1/2X(2.700+1.800) X 1.500=3.38

T 3.63+3.38=7.01

ARt 7.75+7.01=14.76

14.76

ot




At

1/2%(1.200+2.130) X 1.880=3.13
1/2X(2.130+1.100) X 0.520=0.83
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1/2 X (3.540+2.640) X 1.500=4.635
1/2%(3.540+2.640) X 1.500=4.635
1/2 X (4.635+4.635) X 0.500=2.318
1/2X(1.540+1.000) X 0.900=1.143
1/2 X (1.540+1.000) X 0.900=1.143
1/2%(1.143+1.143) X 0.500=0.572
2.318-0.572=1.746
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1/2X(1.200+2.050) X 1.880=3.055
1/2X(2.050+1.100) X 0.520=0.819
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1/2X(3.660+3.000) X 1.100=3.663
1/2X(3.660+3.000) X 1.100=3.663
1/2X(3.663+3.663) X 0.500=1.832
1/2X(3.000+1.980) X 1.700=4.233
1/2X(3.000+1.980) X 1.700=4.233
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1.832+3.556=5.388
1/2X(1.660+1.000) X 1.100=1.463
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BifTA : 1/2X(3.540+2.640) X 1.500=4.64
Hif: 1/2X(3.540+2.640) X 1.500=4.64
AT : 0.900 X 0.500 X £+ 1.044 X 2=0.94
ARME: 4.64+4.64+0.94=10.22
AT ZERR: 1/2 X (1.540+1.000) X 0.900=1.14
s 1/2 X (1.540+1.000) X 0.900=1.14
PepdiR: 1.14+1.14=2.28
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A BE: 1/2 X (3.660+3.000) X 1.100=3.66
S R 1/2X(3.660+3.000) X 1.100=3.66
M e 1/2X(1.100+0.960) X 0.500 X £+ k1,044 X 2=1.08
R 3.66+3.66+1.08=8.40
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LR 1/2 X (1.000+0.820) X 0.3=0.27
B 0.74+0.27+0.68+0.87+0.27=2.83
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(3.06+0.82) X 11 1.044 X 2=8.10

8.10




500 2.400 1500

2.000 400
1. 880 520
‘ 3.540 )
1.000 21 1.000 270 1. 000
22| |3 —
-
=] N, ~
38| 8 8l 8
S| g 8 NVUE 6150
= —| L=0. 80N=2&
k=1 =]
3
AN—F 4 t=b
31 820 310
429 2.682 429 500 1.800 1.100 %) BHFHEEOTEEET 5.
8 g
— =)
= 8| 8 3
[ s
.
*ﬁ §
1.880 ‘ 2 X*O)RYFREAOTEBLT 5.
2.000
e S ¥ =
& =1 = o =

AT . 1/2 % (3.540+2.682) X 1.430=4.449
A 1/2X(3.540+2.682) X 1.430=4.449
AfisR: 1/2 X (4.449+4.449) X 0.500=2.225
T widifess: 1/2X(1.540+1.000) X 0.900=1.143 1.653 m
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AT : 0.900 X 0.500 X £+ 1.044 X 2=0.94
AfRHcRE: 4.45+4.45+0.94=9.84
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s 1/2 X (1.540+1.000) X 0.900=1.14
PepdiR: 1.14+1.14=2.28
Hrf: 9.84-2.28=7.56

7.56

R

{1l

1/2%(1.200+2.120) X 1.880=3.12
1/2%(2.120+1.100) X 0.520=0.84
(3.12+0.84) X £} H£1.044 X 2=8.27

8.27

[
=

A BE: 1/2 X (3.660+3.000) X 1.100=3.66
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M5 o T AlE | o | v | L -
2.50 1.10 1.10 1.100 2.75
@ 0.90 1.10 1.20 1.150 1.04
2.10 1.20 0.30 0.750 1.58
INET | 5.50 5.37
® 2.80 1.20 0.60 0.900 2.52
1.00 0.30 0.00 0.150 0.15
INEE | 3.80 2.67
® 6.00 1.70 0.00 0.850 5.10
INEE | 6.00 5.10
1.20 1.00 1.00 1.000 1.20
@ 1.00 1.00 1.00 1.000 1.00
2.40 1.00 0.30 0.650 1.56
INET | 4.60 3.76
6 3.00 1.60 1.00 1.300 3.90
3.30 1.00 0.30 0.650 2.15
INET | 6.30 6.05
© 2.50 1.30 1.30 1.300 3.25
2.20 1.30 0.30 0.800 1.76
INET | 4.70 5.01
2.20 1.90 1.90 1.900 4.18
@ 1.00 1.60 1.20 1.400 1.40
3.20 1.20 0.00 0.600 1.92
INEE | 6.40 7.50
2.50 2.00 2.00 2.000 5.00
3.00 2.00 1.30 1.650 4.95
2.70 1.30 0.30 0.800 2.16
INEE | 8.20 12.11




AREEBTIEREHESE

(% 16 %K)

. m fH v e
5 R Taem [ oew | | - ©
© 2.50 1.20 1.20 1.200 3.00
1.40 1.20 0.30 0.750 1.05
INET | 3.90 4.05
1.50 1.30 1.30 1.300 1.95
3.30 1.30 0.30 0.800 2.64
INET | 4.80 4.59
a 3.50 1.40 1.40 1.400 4.90
INET | 3.50 4.90
2.10 2.30 2.30 2.300 4.83
1.60 2.30 0.90 1.600 2.56
@ 7.30 0.90 1.30 1.100 8.03
1.30 1.30 1.40 1.350 1.76
2.00 2.10 2.10 2.100 4.20
INET | 14.30 21.38
1.50 0.30 1.30 0.800 1.20
® 2.55 1.30 1.30 1.300 3.32
1.35 1.30 0.30 0.800 1.08
INET | 5.40 5.60
aF 77.40 88.09 m2
4 r B 2V B B
oA 88.09 X Attt 1.044 91.97 m2




TRAEIET 3 &

El&l'
&
T

(5 17 %)
600
L ] g
Fka vy )—+F
1.0m&Y
% | %8
av7)—k 0.600
1.0204 720
% F CES B B
MER: 76.8
M/ N ]\__ ]
e i 76.8X0.600=46.08 46.08 m




B R IEEHEE (55 18 £%)

150

/// SD345 D13@250

L=100

350

il isn345 D130150 )
£=900 JANRY. /

SD345 D130150

/ [=1950

900

1000

i
1000

1.0 4720

A =1 Fa iy
a7 —hk ¥ 0.15X1.00X2.17+1/2(0.314%0.35%1.00) x2| 0.44 m
(C1.00+2.17) X0.10) X2+1/2 X (1.00X0.39)
gy et Fr&r: X4+(0.35X0.314) X2+(2.17-0.314 X 2) X 3.41 m
1.00
7] g ((1.95X7+0.90 X 14) X 0.995) /1000 0.026 t
7= g ((0.10+0.2) X4X2) /1000 0.0024 t
. . 616 1L=100 4X2
[ = 16
HIfL LGN 6016 12200 42 fL
((1.542+1.0)X0.9)/2=1.1439 g
ATV R =T HE: ((1.542+1.0) X 1.25)/2=1.58875 1.37 m
(1.14389+1.58875)/2%1.0=1.37 3




